1. Question: %" e [F (@FRT?

A) FfeT

B) (¥ (@1 1%

C) TOWITS *<1 AT &g
D) Ieley& 4

Answer: B) (¥ (1T =1

2. Question: (FF IO BFH?

A) ST
B) SR

C) SRS
D) ST

Answer: B) SF3T

Explanation: S=31 (fRe1): S, Af{6H1 31 O1AT1 R, (REC®) O 37| St (Rom),
(FRorer) (Fiferr) T, 11 T93T: IRAT AFTST AfSH |

3. Question: (ST6-FT61 F¥T(® & JANT?

A) ST

B) "= TeY%
C) fermranht
D) ~igeIst

Answer: B) TS e g

Explanation: (316 F16T ISNRT I BSIR/(FIIT| THE- 16 IoNT AT 2 ASTT H177 T720,
HF SIS 91X WNTF 398 Fa7 932 e =576 orf Ffoerer

4. Question: 'fAm-fig’ F17 Toa1?

A) FEER™

B) 21 (RIS SRS
C) C(TTSCH 29

D) i FNETH A



Answer: B) 3512 (@07 SIETST

Explanation: fS¥m-fiig FTEITE J@E@are S8 F Ab© A NS (T PRSRS SAi|
aft FIMFE S B¢, SbBa 8 Sbds WIE fod St FFIFTe 3F; TFTeie T3fT 7S e 27| [

BB

5. Question: (FFG FIIFTE?
A) I IT

B) (¥ Af6T

C) CTEE Ffe]

D) ¢T3 (o1

Answer: C) (TS $fJe]

Explanation: - FI4aY 515 Fb© FIITIE - CF (1| - FIGAN STFF A6® (65T - CF FT| -
FIAGAN FTPER ST - CTIF FIFST| - THSEEUF ST - (T T 3 CTHF A6 |

6. Question: FSFA NI TN TFI@ T2 (FAG?

A) TEIDNF ST

B) AT
C) St
D) 5T Wil

Answer: B) 3357
Explanation: FT8 ST ZeTN STFeT S: - Y IFITG T3 QFNIRAT (T (AT | - 43

SFITS TIHF AT | - S TFITS SIFIF FAE 7T | (TN FF1e %3 afb 1) - 733 518
FITTT AT | - T FFHE FFOF T |

7. Question: (FA JfEIHSGF SHATT?
A) foE@ R R

B) SF STEITS TSN I

C) a%Te@d faasfer

D) SUSWS S=Tfer

Answer: A) fSE@ESE T2

Explanation: - GIF (ST S 97 Je5RNF ©% el O Afbe 37 NI IREGH ST



"B T | - SANA@T STA-TNSTA AT AGTFSA fTAT SHNIT - o E IR -
AFTOEA ST SRR 2 A JfSI@eF T i | - IF ARSI 3T N - ST T 35

qfte Jeyafefes 6|

8. Question: (FTAG T AR T61?
A) fages g6rRf

B) fase I8

C) fadfrer

D) f @ fMaay

Answer: B) ¢ T1%9

Explanation: *RI5[F FRAMAT ©TF T FIIFAF - FA ST EISIR) I AT Sd Yo HT IF] IR

9. Question: 'F® S BT {oF A 9 T - 93T ‘BITF BRI (1 496 T4?
A) SITTRGS 4

B) IIFTHTH =

C) | F T4

D) fasre =

Answer: B) FIFTEETE T4

Explanation: 735, 9I97Y fafe REE @6 I3 TTME (031w |

10. Question: (PTG T9 FNEF SURAT ?
A) fizase

B) ST=T31

C) Fr1f

D) ®13-(@

Answer: D) @R

Explanation: ST, S13-QH 936 NA(F 557 TN TS5 MBS [FIT @16 I3

11. Question: 'IT XS AfoHN FJT IF dT' - 4 IIFHRET (HF F7 F2

A) TSy



B) STeTeEy
C) ysfer
D) yafo®y

Answer: B) 9Ty

Explanation: - I1 513 A& F1 T A7 - GHOFT | - T AfoFH FHT T 1 - AAGHH| - T3
FENIES - TSI | - ST DARTSTS - D505 |

12. Question: 'TET " - 37 F?

INIGIRREIGE
B) NEIT Ho1
C) TRl

D) SINgS Koo

Answer: A) (&5 0T

Explanation: - 1&F A (SN1.): SIS WiHL TG IOTHIN N¥T| - HNEF HW (SATFNES)
(FROTY): ST [AR| - TNSF A (FFCTD): T T FTI5 (T FOF P | G2 IRAT ABGTN
SISH |

13. Question: "R¥FF FIF IoA1?

A) A SIET
B) T3F© 3T
C) of2g I3z«

D) <RIER FIINE
Answer: A) IR (G

Explanation: S=g% RIETR FIIAMEF AF6 STNIT| S b8 W F6w a3 SHATHIG S L T
TFIG 2F| TATONS ANIGER SN JP[H ACIFT U1 FE 933 T IRTAG (BfAfS T oIS 271

14. Question: "AFTT FGFIN FNF RITEAT TS (F?

A) T8F© 3T

B) &8 321«

C) SrgeT sTfef RISt
D) 2 Jfea T2



Answer: A) *33$9 35T

Explanation: - @ STETR 16 SCT AFTTH T T FeTd N lTva] FEET IS N FfoF Aares
I T FF T o T

15. Question: "9l 8 FA" FF ToA]?

A) FTST ST S

B) ST e

C) *Trs]{™el ST FITTH
D) 293 {37

Answer: A) FTST S 877
Explanation: 23 337 R 37 (F13F 8 AT 'Til 8 ATEN (598¢) ©IF Af6w® SANI |

16. Question: FTSI TS I Fow 5% (FAG?
A) RIGIC!

B) S=efra

C) s

D) TS THAT

Answer: A) Jfa@ e

Explanation: TRET-SAT F18 TS 2N Afb© Tite [[TIF RF |

17. Question: 'IHTS! ATeIT F1F Afh© T%?
A) SICTIS e

B) (MIr=STw SEIEAE

C) o 5[

D) Tavb (BIYAt

Answer: B) (Mt SEIERT

Explanation: BCS_5.PNG

18. Question: '"WFfOF ©RT (' 5% (F Toe FERA?



A) GITOTRS (RTCT (BT
B) ¥ (¥

C) FmEse g

D) SMASTEFSINT ey

Answer: C) FETEN g

Explanation: - REeF O (g (522 b) (F7F) - ANOTFSHH TN - TFod 5TR SR (F3%)
- 18O SHATA - FfOd FNFT (FTFH) - (SN T - SFfoF FAT (F7%) - (ORI (R -
M Ffod RF6 (7F) - P~ 3T

19. Question: 1% GAST o1 fF7?

A) TCIFFIR
B) 5T

C) Gief eI
D) Ay T

Answer: B) /39T

Explanation: - STSIF SR JT% - BITF (711%F; IF SI@F @ oz | - Jad (OfF - @ 7, o -
TF 4N/ O - BT Y| - FIF (SO - T (S| - TIT FIF/FF QIS - ool TS/
&I

20. Question: ey JHeF-F (FT = ISTT?

A) 38
B) Trfaws
C) FmAEy.

D) JI¥G

Answer: C) FAEY

Explanation: $O3{ (% Fol90R ¥ 1920 7|

21. Question: EXCITE : CALM -

A) restrain : compose
B) agitate : trouble

C) upset : perturd

D) stimulate : cool down



Answer: A) restrain : compose

Explanation: - Excite is the opposite of Calm. - Stimulate is opposite of the Cool down.

22. Question: DELAY : EXPEDITE -

A) related : halt

B) block : obstruct

C) drag : procrastinate
D) detain : dispatch

Answer: D) detain : dispatch

Explanation: - Delay is the opposite of Expedite. - Detain is the opposite to Dispatch.

23. Question: ANARCHY : GOVERNMENT -

A) verbosity : words

B) chaos : disorder

C) monarchy : republic
D) penury : wealth

Answer: B) chaos : disorder

Explanation: - Government 19 Anarchy 3J 91 1 Government, Anarchy 75 | aFROT, -
Wealth, Penury (Wif{m) 78 $@&|

24. Question: VACCINE : PREVENT -

A) wound : heal

B) victim : attend

C) diagnosis : cure

D) antidote : counteract

Answer: D) antidote : counteract

Explanation: - VACCINE (f537) @1s/&ta1] PREVENT =S &1 - Antidote (R a1 (&St
sfe@y< 83%) fIAMFAT Counteract (Afeze) F@E|



25. Question: glass is, for all practical, a solid, its molecular structure is that of a
liquid.

A) Because
B) Since
C)If

D) Although

Answer: D) Although

Explanation: 23T, NG 932 133G o1 Radtes T il a3 @98ty A1 contrast 3717 Fa%|
®12 Although T539%e T |

26. Question: An intensive search was conducted by the detective to locate those
criminals, who

A) have had escaped
B) have been escaping
C) are escaping

D) had escaped

Answer: D) had escaped

Explanation: fR@Ema Seea G610 (@ sreited 93 fosefar sifeare sfasweran soafo fwfere
METAF T ToolT AT FH Aeited | 3T already An intensive search was conducted, past indefinite
tense e 9k,

27. Question: The intellectual can no longer be said to live the margins of society.
A) against

B) Before

C) inside

D) beyond

Answer: D) beyond

Explanation: Margin BT I ST (6 (WA F I7 T@®@ | I A 2ET 92 ST o T

ISR ST TAENT S 911 B2, Beyond 63 3G Saly ARSIl T |

28. Question: According to the conditions of my scholarship, after finishing my degree



A) my education will be employed by the University.
B) employment will be given to me by the University.
C) | will be employed of the University.

D) the University will employ me.

Answer: D) the University will employ me.

Explanation: I16d o1 I TOTE, SR O (¥ 28T 7 fafwsrery S @t awrey
FAE|

29. Question: If a substance is cohesive, it tends to .

A) retain heat

B) bend without much difficulty
C) break easily

D) stick together

Answer: D) stick together

Explanation: The adjective cohesive comes from the Latin word cohaerere, or "to cleave
together." - Cohesive things stick together,so they are unified. - IR 3 - 9F7 4G NFT A3 T
99T, S|

30. Question: He stopped his car when the light turned red.

A) Incisively

B) equitably

C) ambiguously
D) abruptly

Answer: D) abruptly

Explanation: - Abruptly - Suddenly and unexpectedly. I 3% - AFHAFSNF| - Equitably - In a
fair and impartial manner. RT3 - ARG BIE| - Ambiguously - So as to be open to doubt or
uncertainty. IR 9% - AFFE@SNE| - Incisively - accurate and sharply focused. IRAT I - T&F
3 NolHolE|

31. Question: The influence of the technological revolution in and the
concentration of wealth and power in the hands of the few should worry us all.




A) proliferating --- diminishing

B) undermining --- neutralizing
C) aggravating --- demolishing
D) accelerating --- intensifying

Answer: D) accelerating --- intensifying

Explanation: S&Ta<T® 4ft 53 S¥5=1e 1% and AT J& I M 5326 2| ATTASE N,
Undermining - process of lessening the effectiveness; neutralize- make (something) ineffective
by applying an opposite force or effect. 432 Accelerate -(especially of a vehicle) begin to move
more quickly.

32. Question: Few people would care to take the negative side of the proposition that the
women of the world are and

A) admired --- provoked
B) slighted --- celebrated
C) rebuked --- regaled
D) oppressed --- scorned

Answer: D) oppressed --- scorned

Explanation: STETE 96 S S1(S=7e % and 14T I& 2@ @ H9%0 27| 93T, Oppress:
burdened by abuse of power or authority; Scorn: open dislike and disrespect or mockery often
mixed with indignation. 94T 9% ‘17?{517*13 STRE 3 SFTT FA® AR IS AT ST Y{Tﬂamﬁj\‘fl
O Sf3F T3 - ¥) oppressed --- scorned

33. Question: Anger, even when it is --- has one virtue, it overcomes .

A) sinful --- sloth

B) intense --- hate

C) unnecessary --- malice
D) inevitable --- desire

Answer: A) sinful --- sloth

Explanation: The conjunctions but/although/though/even when/even though connect ideas that
contrast. 18 AN AHH® 932 (WIS TRET IHE T F90© A | Inevitable: incapable of
being avoided or evaded, Desire: to express a wish for. Here inevitable and desire is capable of
expressing almost opposite meaning. Source: dictionary.cambridge.org



34. Question: The word 'dilly dally' means -

A) to dilute

B) wait impatiently
C) repeat

D) waste time

Answer: D) waste time

Explanation: Dilly-dally: Waste time through aimless wandering or indecision. 31213, ST Y5
¥ F411 Source: Oxford Dictionary.

35. Question: The word 'Euphemism’ means -

A) stating one thing like another

B) a statement is made emphatic by overstatement

C) contrast of words is made in the same sentence

D) description of a disagreeable thing by an agreeable name

Answer: D) description of a disagreeable thing by an agreeable name

Explanation: Euphemism - a word or phrase used to avoid saying an unpleasant or offensive
word. - "Senior citizen" is a euphemism for "old person". - The phrase “left to pursue other
interests” is a euphemism for “fired.” Source: dictionary.cambridge.org

36. Question: The passive form of the sentence 'some children were helping the
wounded man’-

A) The wounded man was helped by some children

B) The wounded man was helping some children

C) The wounded man was to be helped by some children
D) The wounded man was being helped by some children

Answer: A) The wounded man was helped by some children
Explanation: To change the sentence into passive voice if it is in active voice for changing the

sentence into passive voice we have to add subject at the end and object at the start. Rule:- ob)j
+ was / were being + verb 3rd form + by + sub.

37. Question: ‘Rumor is the most primitive way of spreading stories-by passing them on
from mouth to mouth. But civilized countries in normal times have better Sources of



news than rumor. They have radio, television, and newspapers. In times of stress and
confusion, however, rumor emerges and becomes rife. At such times different kinds of
news are in competition: the press, television, and radio versus the grape vine.
Especially do rumors spread when war requires censorship on many important matters.
The customary news Sources no longer give out enough information. Since the people
cannot learn through legitimate channels all that they are anxious to learn, they pick up
'news' whenever they can and when this happens, rumor thrives. Rumors are often
repeated even by those who do not believe the tales. There is a fascination about them.
The reason is that the cleverly designed rumor gives expression to something deep in
the hearts of the victims-the fears, suspicions, forbidden hopes, or daydreams which
they hesitate to voice directly. Pessimistic rumors about defeat and disasters show that
the people who repeat them are worried and anxious. Optimistic rumors about record
production or peace soon coming paint to complacency or confidence-and often to
overconfidence.’ The author is mainly concerned with -

A) the breeding places of rumor

B) the fascination of rumors

C) rumor as primitive man's newspaper
D) the nature of rumor

Answer: D) the nature of rumor

Explanation: There is no explanation for this question

38. Question: The author suggests that rumors usually-

A) alarm their hearers

B) can be suppressed by censorship
C) are disheartening

D) are hardy in their growth

Answer: D) are hardy in their growth

Explanation: There is no explanation for this question

39. Question: The author states that during wartime the regular sources of news present
only -

A) optimistic reports

B) pessimistic reports

C) government propaganda
D) limited information



Answer: C) government propaganda

Explanation: There is no explanation for this question

40. Question: Which of the following best describes the author's personal attitude
toward rumor?

A) Excited enthusiasm
B) Morbid curiosity

C) Philosophical interest
D) Acute indignation

Answer: C) Philosophical interest

Explanation: Overall the reflective, analytical tone and examination of the deeper human
aspects of rumor point to a philosophical interest as the author's personal attitude, rather than
strong emotion or judgment. The author seems more fascinated by rumor as a window into
human psychology than outraged or enthusiastic about any specific rumor.

41. Question: feTT TONE AT YT ITCH SIS | & T=F JF ProTd I3 YT IO T8 fiaeT |
o1 8 JF TGN I F97?

A) @b 9T $8 =T
B) @ 438 9 I=F

C) 80 A3 Yo I=F
D) @b 4T » IF

Answer: C) 80 a33 So I=F

Explanation: §f3, Ja7 TN 3T x T=; (o1 IONF ITF 8x IRF| LA, So(X-b)=8X-b T, X =
> TeaF, Fe1g T 8 X » = vy IRF AT J@F IV > I=F|

42. Question: G 7 AT AF6 (B1ATHT v MG Jf 771 & f6 37 (v 8 AT = 529 it I
FE (A (GRS Tof 700 AET b VG TS| SesF e TE] JRFONE (BIATGIT 3of 2® Fo FiF
ISTE?

A) Sb a3 52 G
B) So a3 sa e
C) 5¢a: sx A%

D) 38 a3z b2 G



Answer: B) So a3 va ffaG

Explanation: {6 51 a3, & G o F&@ 6 (SIRTST 8fAAE Fof FE = (8/% X b) IT = b/ WA
(ORTSIBR (5-5/3) BT AT A | ST e TR, /2 T Jof 77 & TG S (5Fef) 37 7o 77 = (b X
R) = O3 TS SRR fGSHy &e qray, o fifa® ogef 27 /2 317 8 fif® Jef 2= 5 X 8/3 X b = v/o 37
ST e JIAT 8 A ol 27 = (5/3-5/9) I = (0-3)/b = S/ T T T AT S/b 9T Jof 7 8
RV ST T JIAT (oY) ST 57ef 27 (8 X ) fAifeis = 38 fAif®

43. Question: GIFT 8 BT 7¥ woo fFfE| GIFT 2@ Ff6 (B T B (S fIF [T oy
BB (= | (FAf5d 5T Sfe@ST b1y F© feer?

A) 38.¢ Y
B) 8¢.o f&f3r
C) 83.0 ff3r
D) wa.¢ fFfr

Answer: B) 8¢.o f3f¥

Explanation: (E4f6 (I(® (NG ST AT & HBI| v T6T Aoy FE woo fFH .. s # 1 woolv
n =9.¢ R

44. Question: 936 WEATE fAgEa G s 3. 932 377 96 127 A6’ vo . 2T Agsita Faws
F097?

A) ey T. .

B) 82 7. fax.

C) ¢o F. fi.

D) 8w . fir.

Answer: C) ¢o F. fil.

Explanation: SIS S, {512 Q@ STe I29 55 GFF a 992 ©fF b 2T ©IRET (Fa%T = b/4
X V(4a2 - b2) 35 aFF | 234 &fF, BT b=16 933 932 AT I2F AFM a = 10 953 | TR
faesfba (Famer = 16/4 XV(4 X 102 - 162) = 48 T 955 |

45. Question: 76 AT IO ¢ b | TSR S X (TT5T FACT TG 32 0 IT| 537 f6 F 572

A) 985S
B) 53 8 bk
C) So 338



D) o 8 %Y

Answer: B) b3 8 Vb

Explanation: &f8, a7 936 @x 8 x| THCE, (@x+R) : (BX+R) = 319 J, (€x+R)/(x+3) = 3/© T,
SUX + 8 = 5EX +b .5 X = X SOAR AT P26 (X)) = So a7 (¥xR) = by |

46. Question: 36 T (FNF 39T AF® I5f P VT (FVF M 39T AF® I F© 4?

A) fage

B) feager

C) 63

D) 51&g

Answer: B) foa8 (Three times)

Explanation: &fS, STe@aa Wl x 3 23700, X2 / (x2/4) = x2 x (4/x2) = 4 TR, aFf6 ST (FAF
3577 AfFe T P T (FAF AEFH 379 AF© I 8 8T |

47. Question: x 3 y-AF AT TG > AR Zz = SR X[, X, Yy AR z A7 {FF TS $© EF?

A) b

B) »

C) sx

D) so

Answer: B) »

Explanation: x + y =18 AR z =12 .". x, y 438 z 49 =S 51 = 30/3 = 10

48. Question: x/y a7 T F© (J15T FAET (5% 2y/x R[?
A) (x*-y?)/xy

B) (x>-2y?)/xy

C) (x2-2y)/xy

D) (2y*-x?)/xy

Answer: B) (x®-2y?)/xy

Explanation: 2y/x - x/y = (2y*-x?)/xy



49. Question: FF 8.¢ % ST T F© BT AR FACT 8 T=E ©F Wb GIFT TT?

A) 8¢ BIFT
B) Lo BIBT
C) 93¢ BT
D) 900 BT

Answer: B) Lo GIFT

Explanation: Soo B1F1d b I%@F 57 8.¢ BIFT .". Soo BIFTH 8 I=ESF 51 (8.¢ X 8) BIFT =5k BIFT
CIRE S = (Soo +5% BIFT) = $5% BIFT STARTT 55 BIFT X AT Soo BIFT " ST b BIFT
T AT (Soo/Svk) X By BIFT = 900 BIFT|

50. Question: x2+y2 =8 & xy =7 X( (x+y)2 a7 [ $©7?

A) 8

B) b

C)wo

D) 3}

Answer: B) bY

Explanation: (x +y)2=x2+y2+2xy=8+2 X7 =22

51. Question: FFITLIF (F NATF FET?

A) RS IAGES
B) E3f oy
C) ST

D) 28I6 23

Answer: C) A1
Explanation: - $FISEIET SaF BT FMES | - T3TG 3@ FPHCOIET NAFEF 932 AYfAF

REFENF PTSOIET AT | ol WF-S 97 TR FEA| - S BT FEFH AP FEGOF
AfFTF-S [OfF FEF T ATSHT 3 ©TF A (TTNF AF6 fdmF |

52. Question: SEETeR! ARTWHE TNT FHFT T @ oI Ty (IF?

A) ST So, $599



B) SRIFT b, SHR
C) (ST 8, SN
D) g v, Yo%

Answer: A) ST So, S50

Explanation: - IRECTE ST FaIEF AT SR T S S IRATTT P FT SfJ41e
ST AT 33 CT A6 IRATE ST ETw ST F FAT 2| - 97 FIF[RRIOIT SS AT O3 FHlT
SARTNF T, FIH RN ARIIF I 08 TN TN oo SHRIG SO Fa7 271

53. Question: IRTGCT (T Ty F©7?

A) 0 ufp
B) ¢sft
C) 8sft
D) uvs8fE

Answer: C) 88fb

Explanation: IRAMCT ISH, - TSNS AT - wf6 (IO - FINABRE) - (ST =247 - b8fb -
SR ST - 8>¢fB [FFTT - SIF, (MWEPF)] S33T: B A0 8 N o1 SFIMZ6 |

54. Question: FRACT RNAT 133 LT (FT TONEAF M 25316 @ 2772

A) I8N
B) 73
C) a1
D) qr

Answer: C) a3199

Explanation: - 533 ST & S5FH TSI NN NI T CNEA! 71 271 93 RO
ST (T SRR 5 77 IS FAT T - 3 T S»>S WA $¢ (BT SST5 SHo® 2|

55. Question: TRATT HATIS SCATEA SEATFIAT (72

A) foeiita

B) T8 GIRTAW A= T1a
C) TS (IETW Al
D) T TSTeoaE



Answer: B) 28 (TR AT/

Explanation: 18T TRIAQTR % B ATAE (ST Ssizel Fe | BRI ST T
T4 o TAWIE (ST 93 T1F (F90E A6 BF 27| 8 TRNIQERT T@IF 7 HATS AT
(To¥ (Wl ©IF 3 79 o

56. Question: IR JCITON IS (FAH?

A) CTTARSTS
B) fRmaryd
C) (STT=ITeTsT&
D) 78

Answer: D) 73

Explanation: =181 STeTeTd f o7 s (V& D2 NIOE Waf S| - TR0 H1F Sl =1 ST
e aft ABITeNS | - ST, FARTE, FSTA T8 TP @ 92 S mis e TR - a7 T
frteTT-sgersa|

57. Question: &I (FINT S 5e?

A) STTERETT
SEEIERIE]

C) RIS
D) e

Answer: A) TeSTT

Explanation: S[Ta5F STr=sTedt IRTWCTE TN FFFTH J1 ZJTH IRACTT TIFES Tra7@T
IS (| - IRACTT JSY@ AAE I, CTH NfHIF TR ATCT I AT (Sl
(TR NRFAT TWASAT ST AFFI 2 HfHTAIT |

58. Question: Y295 NEF L& fomaa MFEIN TRA GrFEF @FATI SIFslef FE?

A) T N

B) =6 STAWI

C) GBI FHAECH

D) GRFTAT (T I

Answer: A) TNT T



Explanation: 335 SETF G- fE0Ta (T IMRAE [F A 08 NiFIfe remara F1fRa
SICTE SRTHA ST 2|

59. Question: IRACT (FTEAT FEFF (SIHIEFH TIT PN IIH F67?

A) S T=F
B) b I=d
C) 20 927
D) v =T

Answer: B) 3% =g

Explanation: IRNECTE ST SFEH ST S TR Ief(=(7 "(SIO1F-BI P AQfed (FsHer”
S T TR

60. Question: FIRAWCIT FTOIT HN™ TFHw NRAT AHET T4 Fo2?

A) 8o
B) ¢
C) wo
D) ¢o

Answer: B) ¢

Explanation: IRTACIR ST61T NN KA JFRAT AT AT o o1 - TRIFETHT 95T SeMEAT
T ISA STOIT SN T IFS HfZAT ST T ¢ofb 978 TFT TN A TRAF© Az
STEF (T 3¢ T2 J FA71 21 B3N IRATWCT SIS 3 SO AW STINRG |

61. Question: 5T (TQH 0l F©?

A) 8.¢ fFfer
B) v.x fFf
C) a.x f3fir
D) 8. f&far

Answer: B) .3 f3f¥

Explanation: Ta[a1 I233 (g 1 35195, I (T IR T3] TR SN S50 956 T6F 3
(& TG - 8. [FETRGE G 8 vv.¢ FIBE 7% 9% T fos i 18 b ST 74 2|



62. Question: IRIATCIE TAT 2T (FNT Ff*re 27?2

A) STeTE
B) stgdaite
C) MR«
D) &8s

Answer: B) 59a4Ite

Explanation: - IRATWCTE F 3OS ‘GBI 3G S b0 ST 5B TfermE afefde 231

63. Question: IRATT 8w NEF FOEEH 377 & i@ a7 = @ Fra?

A) a5 a3 TSI
B) 1w G Sirefsy
C) FTEFeT e
D) SWe[eT S ey

Answer: A) a5 a3 el

Explanation: $»8© NIFTH 7S S¥e &0 HARIRFONT 931 ba (56 @1 2 46T 2o
RRIERICREIDREIT

64. Question: ey B TRE(E F@ T=N1re 27?

A) TTETF b3, S
B) f&0Ta7 x¢, 339
C) f&tTFT v, v239
D) fot1a 3, v329

Answer: C) fSTTET b, 229

Explanation: 51y 58 *MEEF, S>> IRANT NIFIF A% MFT GBI Feis:2fo HAfoF A&y
THHE 930 AGPF §fF| S»»9 TEE 2 Foomg 22 (e T5Es 23

65. Question: 595 N [FYFFIET IRTIE FIAC THETF (o [To® Fa1 7@ RT?

A>T

B)safe

C)sa fo
D)ss B



Answer: B) ya f6

Explanation: >3 SER b Af3e Sradt F31 WA1F J[eq@ MRETaE SRame sors (7@ ofo
CTRE ©15T | - 97 A (N (o RV So: (| - BIPT 17T 3 (W F AT BN bale (W@
S T | CTEF AT CTEF FASTH AT AT |

66. Question: IRATCTH TFSS FTUAIEH ATON F©?

A) Y00 FSfeNZT
B) S»@o IsfARe
C) »3¢ F5foReT
D) 3800 Fsfa3e

Answer: C) »3¢ J5fT12e

Explanation: JWa3@4 (b ATSd 0k yo 52T AT Soooo FsffF.fo7 1| - 97 &Y @/ 3T AT
RSB TSR AT Yooo FsffF. o IREACTT SRTT TS| -

67. Question: TFRTT (FT ST PAASFAY-AF TUHT 1S F(H?

A) 5>9¢ ST

B) v»9v© AT

C) 598 ST

D) $993 T

Answer: B) $>9@ N (B)

Explanation: IRiTe1 T IRATT TAN (FIET NBH0F T2 T0 5 1S I ©f 7R
PAN3ITY |

68. Question: ARG @FEHIT 87T IRTWT JIFFe?

A) E5% 91F FIfEFe
B) If6F STe
C) g

D) &% o9 Fhasa

Answer: C) 3367 (Equator)

Explanation: IR AT NETST5T T 1 I FAHIT (FFHRIS (F2AT) IT S (@37 f6f Sad



AHE] ASHH FE@| 92 ([N FONF IRACT F1RIT ST TS FE | A0© FE AN (0T
ST STASTATTN | (a2 EMT 3 AR : FIH-77 ()

69. Question: J&EY(@ TATTA T Ty FOTAE TGS (VO[T G¥© F4 77?2

A) 8% T
B) ¢ S
C) &3 &
D) bk &

Answer: C) bR &

Explanation: 3[&J(& ST Aqul@d FeTaT 590 A s¢ fSraa 3573y 73 vRf6
FIGHIEE LG T (F AT ToF (ST T0T FE| - (N6 (FSTIATG : LG T - TS : 9 T -
TSN : L O - FAFFA : L9¢ T - FFTSIF : 8L T

70. Question: 595 ST GG BF(© I, TF 95 & TRING FE, I JE(RT fdma
(B 932 OTF e TFI@H T, AIF STAT Y ATT© THE 71" 2 GRS I (F foe?

A) (SAET TSt

B) (SeTEeT &1 AT
C) (TN = v A1
D) (ST 2RAT A

Answer: B) (Se1@ oaT1 A1

Explanation: SfEifie Sf&l F@EMRES - MFIET SSFIAT (ANTH 8 CTAT S (STA@ MR
Y|

71. Question: ‘J&R S, I@2 NAGA - 6 F1F Tfe?

A) ST

B) HIFT
C) s[onferat
D) f2beTa

Answer: A) HTSF

Explanation: War is eternal, war is universal. There is no beginning and there is no peace. War
is life . . . War is the origin of all things. — Adolf Hitler, 1932



72. Question: aff¥F G v (FEG?

A) QIERET

B) ity

C) s
D) 2IrfAfFar

Answer: B) fiog

Explanation: - 3f5{Fa1 1 w31 affn srrywers Giefow 0t a3 fAtsg woiy Ao a6 - A6ifoa
5 0S¢ MR (Lwoo fFENRIBE) | - foRTea Mereia T35 (3@ & B W@ 97 ¥ 734G JG So
f6 =T AT APETH NS SRS T@R| T332 fFBIAFT 932 SIRE BT

73. Question: GIFT® WG SN FLIENTIAT P17 (@0 AS@TOT FIMG 7ol SR (7?2
A)afe

B)>fo

C)ss o

D) sx o =96 T1fee Fa1 2@®

Answer: D) 53 f&

Explanation: T35 Fifee Fa7 2@®

74. Question: INTTOET T4 IS (F7?

A) 9%, a%. TIPS
B) FTef S

C) FAT6 (TS
D) MHSTIF

Answer: B) T A1

Explanation: IFed 3T 3R, 0% 8 (T FHGITNW TSI | SNTeET 3@ A6 Tl
Bureaucracy 18 9% WG Desk Government. - FATT® STHE BN M (SIF (NTH STIF) T30
IARATS 3 &S50 MG RN ANAOHE ST FEA| - T I OIF AFe@d T3] Re1E
Sfefze 41 27|

75. Question: SIfR®Y S>> -AF (AN TR (P (TARS?



A) SIFRfe I
B) STl Tt
C) f& a 3=
D) (RIGT ST

Answer: C) f& a5y a2

Explanation: $>% ST STIfR0@Y (& JTFF TS FE - CHIAT (T (RICT SRS

76. Question: (& (Ff6 TOI@® FAET AT (FIE] (M SHANECT afFe z7fq?

A) ST
B) e
C) 2@ AT
D) MENS

Answer: B) fSa@Tg
Explanation: wfSe-= affA1E (w7 NS FAET SAMRECT Ao 23« | T o T=a 417 fAfen

AT ARG T FE ATTR| IS ARG o I 27| - AT 8 AN f&Ga
FR (A TATO] TS FE| - ST (THETST FF6 3@ TTTe] e FE|

77. Question: TSI TSI (228) -95 FF Jal (T 51 T(R?

A)S W 000

B) S IR, 5395
C)>S 6, 2000

D) S S, 5393

Answer: B) b 6]?1]3, NP

Explanation: 2@ 2STqQS (WA 9% JUIF 71 20| 2@ JUIF Jad T 716
G| - TSET U OF] T S SN 9D | - 2SEANT 2SfAITGE (TISE 5 & (0T IS
ROE1 3l 51 Sw|

78. Question: BI@F 58 JAFST" 4171 FT® (F1H IRFISR [T J3S?

A) TEF AAFNG@ T2 FAT
B) ToIT+sTe NTFNT SNTT ST
C) TRSTF@ I TG &
D) F:-97 IR S@ FoeT AT



Answer: B) FoT7sT® 4T NI SI&A

Explanation: - S@a ‘a3 (w1 2 Fife’ sfeifiig sngem w3’ 8 MRS’ - (F fems Afiies 3@| -
5259 STETF S SFTR AT IR (3@ B3 932 S5 TER 0 fSTF TGNET FTR (@ TMIFIS - (F
¢o TREH Tely A Afge FE| -

79. Question: FFAF THRET FIJRS T2H (FAG?

A) STREEIT
B) @TAT
GRIREIEICEY
D) gifueso

Answer: B) (17T

Explanation: the Russian Far East is extraordinarily far from Russia's major population centers
in Europe and is usually visited separately unless... by the Trans-Siberian Railway of course.
The largest city in the region, Vladivostok, is a full seven time zones away from Moscow, with
9,300 km of railroad between them.

80. Question: FAGE HAMN S ST (F1H ATATST NHHF I FE?

A) SERIGT

B) (SreTCHIAT
C) (FfAGrET
D) F3EF

Answer: D) $3E@%

Explanation: FI9TGTT SIS Sevstel 28 ST N (| ©F (WIoF FREF AGCTT AT wo SISt
SACTSIF TH ST HAM | FTATSTH (NG TGO R IS HAINN S FT I | FIATC] G (3
THTS] e FE| (Faz SIG ABTH)

81. Question: FENOT AT N NIIWF P Frod T T FIF 7?2

A) 97 FARTITOT S

B) IITTEAAW 3&ey

C) 3yIfersy R Z<Ter

D) a7 ¥ Pfey ¢ Pfenivs Pfe



Answer: D) 97 ¥317 2fex 8 2oz gfs

Explanation: f351e *o@d TRFFT I A@AE CTF @ NES JENTSIF fAfew e My
% OF 2| (SL® T8N (TG (FIET IR T1HT 2(0 &1F, IATF 97 AN OIF g (5 §& | (12
ST DA (TR T I -TR@ENSAT, ST, FEIST 957 A AW Hfow 2|

82. Question: SHMVINEF (FT 2@ SITIAIT I FoATSIITTH 20 FET?

A) IR

B) z@1®

C) ST

D) M&F-2-T51%

Answer: A) $IRIF

Explanation: I%sNAINTT SSIPAIT 12T NSF-3 7% | - ASSTAIE ST $DDY-200' FET
THOF ATF FIE S T ASE-2 T AIFS 28I FAPEDB AN F S |

83. Question: T3F ANfHFIT (TISEF (SN SamEang &gy 2

A) aIfsfFe Shmaan

B) @@ Srrraa
C) Tnfefefes St
D) smfsfes S

Answer: D) SWfIfe ST

Explanation: North Africa refers to a group of countries and territories occupying the northerly
region of the African continent. There is no clear definition of the extent and boundaries of North
Africa

84. Question: (I (WCT TN AIF (FHT (AT 25?

A) Zetfer
B) Sst1fer
C) S

D) ST

Answer: B) Sfifer
Explanation: $»8¢ NTETR S IR NI JEA1E [¥8 NH@H Nerefae {7 S Taanafys



QE SEST S| 92 (@ AT SAEFINT T =T Ao T& |1 S8 STET b ATH
SIS REFE = JEAE o3 [T AT NS QT fAEFT FE | > AT HIGAT A
G CREGIEREI RN EIEG]

85. Question: f¥afefAe @ AFfTH/aNEe e AfeOHba T7- wad bIF AAFo?

A) SAARC

B) APEC

C) ADB

D) CIRDAP

Answer: D) CIRDAP (Centre on Integrated Rural Development for Asia and the Pacific)
Explanation: CIRDAP (Center on Integrated Rural Development for Asia and the Pacific) 9>
EF 7 4 8 F 77 ST afsfde 231

86. Question: F @ I=F JfolOe 2I?

A) $>9¢ ST

B) S0 A

C) %9 ST

D) > & S

Answer: A) $9¢ 1T (A) Established in 1975

Explanation: STT& T W% AffTE (PISTNR 936 s @1 - so v e @ v feoiag
AfSfS® 27| - 97 9 T (AT FOAY 2 A8 | - WEFF F0fy w6 |

87. Question: (F1F (MTTH AFS S -THTTA =6 TTNTI TARA?

A) g

B) ARG

C) ZaTE T

D) M@ 26 Ao F1 Tq®

Answer: D) STI@RT

Explanation: G Jifed 91 2@®

88. Question: S>>0 AT W OE@CIF (FTH (M7 SfoTS REATGT THHoI TNE FE® aF6 NS



pfed qEE?

A) FETTS

B) RIS
C) (=TS
D) SRS

Answer: B) SRSFTIS

Explanation: S>>0 95 W@ RSECTH (77 S8 AIHTS JSAENT S (ITHT6 §f& (Belfast
Agreement) IR SfoSTET RETOF THTHA FN(E FE® - “(FT%16 §fe"F 9579 9% - Good Friday
Agreement|

89. Question: e ET IS NTHBT (FIF AZGCTI?

A) af¥ar

B) SnfZaT

C) wfper SN =FT
D) 3&@T

Answer: B) ST

Explanation: ST&s:@a I6IF 8 >N MBI XETa SN@IN3 Se@ | fofel TEMETT Mf=F 1 S
S 2059 fofel v TN I F 7 97 TTfefFe 2| IM@IHS SOET SD2¢-300% FTHI
TGN TN RONFS WAT ST FEA |

90. Question: "FT3' S ST5IE 1aF%e 936 Gt I7 fFay 930 3CEAT (701 FEN | P @I
Tog 9 52

A) (@IETSG
B) &

C) 3@

D) =gsMeT

Answer: A) ((TWTF<TIIS - Netherlands

Explanation: SI&18 Smeat Sl 2f6 R0 Trsifas Sed a36 | SMES6 26 BF | - 13
=TTef F-BICTF SAFEAR0T RFF & AIF | 97 TaE STRTL AT A3% Wi 8 & widper Sl a1

91. Question: (F19 §fe SR FTIT TFE AT T ST T RT?



A) (5ETeT §fe
B) snftmw §f&
C) *mf&™ §f&
D) (S5 §fe

Answer: A) (&@eT §f& (Geneva Agreement)
Explanation: (S6a =18 §f& (Dayton Peace Agreement): (G54 MIf@ §f&a T - General

Framework Agreement for Peace in Bosnia and Herzegovina| IIfaaT RFb SN ST (So
S e SO 271 JEAMEH 32T IBAEH (GO 336 [RAFE16E 92 Ffed 3701 596 23|

92. Question: (FH6 (OSHIT 7 FI?

A) @ ferEmeT
B) 2S@EfIT™
C) &G
D) (11

Answer: D) GTiR

Explanation: STa1 GNIfer AN fISEFA (3@ TosrHoeNs AfTae A, 51 3 sy 737 feisftera
AFIE (ST | TP (IN GNET TRV T ¥3-97 (6F (@ SIHE (O (HT
LR CIER]

93. Question: (F9 IXHF FHfoarFer @fF?
A) F91E

B) asffafarmsy

C) oTT

DG

Answer: D) (M

Explanation: J 3535 T JITTST (I (P 3T AR 97 A oA ET@\E)III_ K "IEM\“)(‘NSI (68T P, (X
XM BT 336 92 AFTOET IERE T (W7 AR TS I AIF0 T T O1F J&F AFF 3
AT @ T, O} §3((@F BT el 70 27

94. Question: @ W6 EFF T F7?

A) FI6T (112
B) e



C) (P16
D) aqfaferamer

Answer: A) F16T (11T

Explanation: (515 1 (I 5&e SM@ §IF ANFHI I 9 NEAG §A@ {08 FA1 I S0
T Y I | @FFSTT (G1FF T (R AE O (GIFF T (HE] (GIFF T T
(HEHISTEGS 91 I 27|

95. Question: (I MY AT fFTfe afe%HTe qC ©IF fF T2

A) 3
B) (1=
C) forawy
D) wfar

Answer: D) wsfef

Explanation: - (X S{Te(T ANH o3l dfowere 56 ST wifd | - 75l T4 72 FF717 | INT-
TG Tl AT (ST wef| - wof(ef SENH Sfowers 717 18 23 771

96. Question: TG (T ©fES (519F I F1 7 ©IF a1 {572

A) st F3

B) SNCNS w5

C) wIaEERe fAfFae
D) MAF18TS

Answer: A) ST 93

Explanation: FISTE I@, (1 3 I 5T, (A(SS (@ISR T30, 19 ST FREFSTI
76 2| (T3 SHARANF i fFeme)

97. Question: NISSTNoF AR SNTHIT FE (FT TSN (@AET JTFIT T2

A) SRTHIRS
B) (STIGG12e
C) AME®IG
D) (=¥

Answer: C) IMEERG



Explanation: - F215m1fe® a3 R@ERT Cosmic rays IRE (@ R IPSE OF &7 (T
ARG FATR T FE CHE T ToOIT FRBsToF TR T 27| - ST HIBT (T 955
S-S s |

98. Question: ©fG$MfE rIfete FIBEHG 3T (F19 IEF NHE?

A) ANfEmIE
B) G &ELH

C) TMRF &
D) TSG P11

Answer: A) ANfE%IIE (Amplifier)

Explanation: 1SS “TFE B3 & T TE® 932 TREEE T4 T o e F e 231

99. Question: SEF STSIFel AT F (F IF 4 F?

A) afersfieE
B) SR I
C) YRGS

D ENGIEE

Answer: D) SIIRGE

Explanation: H(TIRGTE - SP{EA STSIRe] 7% T SRET FI1 - SRIOd 0 foref@a 73|
AFENRGIE - eI siferEsT § e fFmr=F T3

100. Question: ) (F1H TAEE ASTE SREGS (&5 27?2

A) ARETT
B) #3151
C) afSanfers
D) 2ersyferet

Answer: D) Zes{feiel

Explanation: ST fSOR ‘SNREEN ST BN NS IF SR SIf% SR T7 (A T feishe
2| IR ASNER SN (F1ST 2 |




